	General Instructions for Participants




You are taking part in an economic experiment, which is being financed by various research promoting foundations. If you read the following instructions carefully, you can - depending on the decisions you will make - earn money in addition to the 10 francs start-up capital you receive as a fee for your participation. It is, therefore, important indeed that you accurately pay attention to the instructions given below.

The instructions distributed are intended for your personal information only. Absolutely no communication whatsoever is allowed for the duration of the experiment. Please address any questions you might have to us directly. The violation of this rule automatically leads to the exclusion both from the experiment itself and from all pertaining payments.

During this experiment we do not deal with francs, but with points. In each period you will, therefore, earn points. The total amount of points earned in the course of the 10 periods will, on completion of the experiment, be converted into francs at the rate of

1 point equals 23 centimes.

General Idea of the Experiment

In this experiment you will do business with the other participants. Both you and the other participants are allotted different assets, i.e. a figure which represents the value of the person’s asset who is making the deal. There are two different markets, a market A and a market B. First, you choose one of the two markets. Then you are matched with a partner of “your” market, you learn the value of his asset, and you decide whether or not you want to make a deal with him. If both partners come to an agreement, the deal is on and both you and your partner give away their asset. If you and your partner are not in agreement, the deal is off. Both you and he keep their respective asset and can make a deal with another partner in the next period.

The experiment’s completion is not determined in advance, meaning that at the end of each period a dice decides if the experiment is to be continued.

On the following pages we explain the procedure in detail.

The Experiment’s Procedure in Detail

Allotment of Assets

At the beginning of the experiment 12 out of 16 participants are each allotted an asset at random between 1 and 6. Each asset is allotted to exactly two individuals. So, two participants receive an asset of 1, two participants receive an asset of two, etc. With the asset received the participants can make one deal. The 12 participants with an asset at their disposal go on the market; the 4 participants with no asset are put on hold on a waiting list.

The two Markets

You can choose between the possible markets, A and B. At the start, all participants in a market are on market B. However, they can decide if they want to move into market A or if they want to remain in market B. The participants of both markets are then at random matched as pairs, i.e. each participant in the market is, for the duration of a period, linked with a partner with whom he can make a deal. Pairs are matched within one market. If you chose market A, you will be matched with a partner of market A. If you remain on market B, you will be matched with a partner of market B. Both participants of one pair are informed of their respective partner’s asset and decide, simultanously and independently, whether or not to make a deal with their partner. The deal is on if both partners are in agreement, in which case both leave the market and are put on hold on a waiting list. The income earned from one deal depends on the involved partners' asset.

In order to join the participants of a market in pairs, each of the two markets must include an even number of participants. It may, thus, happen that not every participant can join the market he opts for. In such a case, a participant not able to enter the market of his choice is randomly chosen, in which event the following two rules prevail: 1) all participants insisting to remain on the market chosen can do so. 2) participants who in the previous period wished to change the market take precedence over the participants who wish to change the market in the current period.

How to calculate Incomes

In the event of a deal reached both partners achieve a profit depending on one’s own and the partner’s asset. The table below lists the profits resulting for each partner, if they agree on a deal. Suppose you have an asset of 2 and agree on a deal with a partner having an asset of 5, both you and your partner achieve a profit of 27 points.

As you see from the table, the profit from a deal is the higher, the higher the respective partners’ assets are. So, the higher your own asset, the higher is your profit from the deal. In addition, your profit is also the higher, the higher your partner’s asset is. If, for instance, you have an asset of 3, the profit achieved in the deal is 4, if you reach an agreement with a partner having an asset of 1, and it is 74, if you reach an agreement with a partner having an asset of 6. The same applies to your partner: The higher his asset is, the higher is his profit from a deal, and the higher your own asset, the higher is the profit your partner makes from the deal.

Table: Profit from a deal achieved by each parnter

	
	
	your partner’s asset

	
	
	
	
	
	
	
	

	
	
	1
	2
	3
	4
	5
	6

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	1
	1
	2
	4
	6
	10
	17

	
	
	
	
	
	
	
	

	
	2
	2
	6
	10
	14
	27
	38

	
	
	
	
	
	
	
	

	your asset
	3
	4
	10
	25
	39
	57
	74

	
	
	
	
	
	
	
	

	
	4
	6
	14
	39
	50
	68
	89

	
	
	
	
	
	
	
	

	
	5
	10
	27
	57
	68
	90
	116

	
	
	
	
	
	
	
	

	
	6
	17
	38
	74
	89
	116
	150

	
	
	
	
	
	
	
	


In each period you are on the market you have to bear a cost of 2 points. In the event that in one period you make no deal, you have to bear the cost of only these 2 points. If a deal is reached, you make the profit as per the table minus the cost of 2 points. If you have an asset of, say, 4 and agree on a deal with a partner having an asset of 3, your earnings from the current period result in 37 points.

When on hold on the waiting list you can make no decision. Neither do you make any profit nor do you bear any cost.

At the End of a Period

All participants having made a deal leave the market and are randomly put on hold on the waiting list. (Keep in mind that not those participants are first put on hold who decided first in the current period.) The assets of the participants who made a deal during the current period are at random transfered to the first participants on hold on the waiting list. These latter can make a deal with these assets during the next period.

The participants having agreed on no deal keep their assets and remain on the market.

If you are on hold, you have to wait your turn until other participants reached an agreement and you can take over the asset of one of the leaving participants. In the event that you find yourself at the head of the waiting list, you get a leaving participant’s asset at random. This may already be the case at the end of the period in which you yourself made a deal, provided that in the current period more than two pairs agreed on a deal. In the other event you have to stay on hold, and wait for a new asset for one or several periods.

This experiment allots an asset between 1 and 6 to exactly two individuals. However, this asset does not every time belong to the same individuals. Let’s assume that two persons are allotted the asset of 3. In different periods this asset may, however, belong to different participants: If, for instance, you get an asset of 3 and, in an earlier period, you were matched with a partner having an asset of 3, and a few periods later you are again matched with a partner having an asset of 3, it does not mean that you will also deal with the same participant.

End of the Experiment

The experiment does not end after a predetermined number of periods. At the end of each period the participant occupying the place A2 will throw a 10-face dice. The experiment reaches its end when the numbers 8 or 9 are thrown. In each of the other events the experiment continues.

Should the experiment last too short a time, it will be repeated from the very start. Above all, the assets will be allotted anew. By this, all participants, those on the market and those on hold, have the same prospect of being allotted a certain asset.

Example for the Experiment’s Procedure

The following table illustrates how the experiment is run. The table is explained in detail below.

	Period
	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11

	your asset
	2
	2
	2
	2
	W
	W
	5
	5
	4
	4
	4

	partner’s asset
	1
	3
	6
	5
	
	
	6
	4
	6
	3
	3

	you accept
	no
	yes
	no
	yes
	
	
	yes
	yes
	no
	no
	no

	partner accepts
	no
	no
	yes
	yes
	
	
	no
	yes
	no
	yes
	no

	deal
	no
	no
	no
	yes
	
	
	no
	yes
	no
	no
	no

	profit

cost
	2
	2
	2
	27

2
	-

-
	-

-
	2
	68

2
	2
	2
	2

	earnings
	-2
	-2
	-2
	25
	0
	0
	-2
	66
	-2
	-2
	-2


In the first period you are allotted the asset of 2. You choose market A and get on it, too. Hence, you are matched with a partner of market A. Your partner is allotted the asset of 1. Both you and your partner decline the deal. The deal is off. As a result, your cost in this period amounts to 2 and your profit is -2.

In the second period you still have the asset of 2. You again choose market A, and again you are matched with a partner of market A. Your partner has an asset of 3. You accept the deal, whereas your partner does not. The deal is not on, and your cost is again 2 and your earnings result in -2.

In the third period you choose market B and get on it. You are matched with a partner of market B. Your partner is allotted the asset of 6. In this period, your partner accepts the deal, but you don’t. No deal is on. Again you have a cost of 2 and, hence, a loss of -2.

In the fourth period you opt again for market B. You are again matched with a partner of market B. He is allotted an asset of 5. Both you and your partner accept the deal. The deal is on and you earn a profit of 27 minus 2 = 25 points in this period.

During the next two periods you are on hold on the waiting list. Neither cost nor earnings result for you.

In the seventh period you are allotted an asset of 5 with which you make a deal in the eighth period. In period 8 a great many participants reach a deal, so that you enter the market again already in period 9. You are allotted an asset of 4. As the experiment is terminated after period 11 (participant A2 threw the figure 8), you can no longer make any deal with the asset of 4.

Procedure on the Computer

You are informed when put on hold on the waiting list.

In the event that you are not on hold, you first decide which market you want to enter. The following screen is presented for you to enter choice. The left side of the screen shows the number of participants who, in earlier periods, opted for market A. It also indicates how many participants got the asset 1 on market A, how many got the asset 2 on market A, etc.

The right side of the screen again shows your asset. Furthermore, you are reminded of the market on which you currently are dealing. You make your entry below by activating either the button “market A” or the button “market B”. In case you enter market A, you are matched with a partner on market A. If you enter market B, you are matched with a partner on market B.

	Period

                                       2
	Remaining time (sec):    13

	Numer of participants in market A


	

	period
	1 on A
	2 on A
	3 on A
	4 on A
	5 on A
	6 on A
	

	1
	...
	...
	...
	...
	...
	...
	

	
	your asset

you are currently on market

what market do you want to enter?


	   ...

   ...

... market A

... market B

               OK


When you have decided on the market to enter, you will be shown the following screen. You are again informed of your asset and have to make up your mind whether or not to reach a deal with your partner. You do so by determining a threshold value, indicating the minimum value you accept as your partner’s asset in order to agree on a deal. You must decide on a threshold value before you know your partner’s actual asset. Whether or not the deal is on is determined by the threshold value and your partner’s actual asset: If your partner’s asset is at least as high as the amount of your threshold value, the deal is accepted, otherwise it is not. If you insert a threshold value of, suppose, 4, and your partner has an asset of 1, 2, or 3, the deal is not accepted (and the deal is off). If you insert a threshold value of 4, and your partner has an asset of 4, 5, or 6, however, the deal is accepted. (And the deal is on, if your partner accepts it, too.)

You insert your threshold value on the following screen. As soon as your decision is made, mouse-click the “OK” button. As long as you don’t activate the OK button, you can revise your decision by highlighting your input and inserting a new figure.

	Period

                                         1
	Remaining time (sec):    29

	Your asset

What is your threshold value?

(Insert the lowest value for which you are prepared to accept a deal)


	   ...

   ...

                     OK




When all participants have reached a decision, the screen below shows your earnings. On the left side you are informed how many participants opted for market A. In addition, you can see the value of your asset, the value of your partner’s asset, and the threshold value you determined. You also learn if your partner was prepared to make the deal (however not his threshold value) and, finally, the resulting profits from the decisions made and both cost and earnings of the current period. At last, also the total income from the experiment is shown. (In the event that the experiment is repeated, the total income is reduced to 0 again. Of course, you will be paid all the money earned during all experiments.)

	Period

                                       2
	Remaining time (sec):    24

	Numer of participants in market A


	

	period
	1 on A
	2 on A
	3 on A
	4 on A
	5 on A
	6 on A
	

	1
	...
	...
	...
	...
	...
	...
	

	
	your asset

your partner’s asset

your threshold value

you opted for the deal

your partner opted for the deal

the deal is

cost

your income from this period

your accumulated income (including the current period)


	 ....

 ....

 ....

 ....

 ....

 ....

 ....

 ....

 ....

continue


As soon as all participants have mouse-clicked the "continue” button, or when time is up, one period is complete. A2 will throw the ten-face dice. If he throws a figure between 0 and 7, the experiment goes on. If he throws the figures 8 or 9, the experiment is discontinued. In case the experiment lasts too short a time, it is repeated.

Control Questions

1.
Your asset is 5 and you determine a threshold value of 2. Your partner is willing to make a deal with you. What is your income from this period, if ...


A)
... your partner’s asset is 1 ?
........................


B)
... your partner’s asset is 2 ?
........................


C)
... your partner’s asset is 3 ?
........................


D)
... your partner’s asset is 4 ?
........................


E)
... your partner’s asset is 5 ?
........................


F)
... your partner’s asset is 6 ?
........................

2.
You have an asset of 1. Your partner has an asset of 4.


A)
What is your income from this period, if you decide on a threshold value of 1 and your current partner is prepared to deal?




........................


B)
What is your income from this period, if you decide on a threshold value of 2 and your current partner is not prepared to deal?




........................


C)
What is your income from this period, if you decide on a threshold value of 3 and your current partner is prepared to deal?




........................


D)
What is your income from this period, if you decide on a threshold value of 4 and your current partner is not prepared to deal?




........................


E)
What is your income from this period, if your decide on a threshold value of 5 and your current partner is prepared to deal?




........................


F)
What is your income from this period, if you decide on a threshold value of 6 and your current partner is not prepared to deal?




........................

3.
Suppose you have an asset of 5 and opted for market A. Apart from you, there are 5 other participants on market A, of which one has an asset of 1, one has an asset of 2, one has an asset of 3, one has an asset of 4, and one has an asset of 6. What is the probability of your partner having ...


A)
... the asset 1 ?
........................


B)
... the asset 2 ?
........................


C)
... the asset 3 ?
........................


D)
... the asset 4 ?
........................


E)
... the asset 5 ?
........................


F)
... the asset 6 ?
........................

4.
Suppose you have an asset of 4 and opted for market A. Apart from you, there are 3 other participants on market A, of which two have an asset of 5 and one has an asset of 6. What is the probability of your partner having ...


A)
... the asset 1 ?
........................


B)
... the asset 2 ?
........................


C)
... the asset 3 ?
........................


D)
... the asset 4 ?
........................


E)
... the asset 5 ?
........................


F)
... the asset 6 ?
........................

5.
What is your income in the event that you are on hold on the waiting list?




........................

Table of Returns

This table shows the returns achieved in the deal by both partners

	
	
	your partner’s asset

	
	
	
	
	
	
	
	

	
	
	1
	2
	3
	4
	5
	6

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	
	1
	1
	2
	4
	6
	10
	17

	
	
	
	
	
	
	
	

	
	2
	2
	6
	10
	14
	27
	38

	
	
	
	
	
	
	
	

	your asset
	3
	4
	10
	25
	39
	57
	74

	
	
	
	
	
	
	
	

	
	4
	6
	14
	39
	50
	68
	89

	
	
	
	
	
	
	
	

	
	5
	10
	27
	57
	68
	90
	116

	
	
	
	
	
	
	
	

	
	6
	17
	38
	74
	89
	116
	150
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